BYAGERE - BIE 241

g # B KSR

BYAGEE - B

242

(=36)+9

g # B-KSR

1 2
Vi (—g)

3+(-5H)

3(2a-b+5)-2(a—-3b)

(-1.5)x0.6

4812y + 8y + (-3x)

2-2y—-3)+3Cx+y—1)

G+J7)6-7 —%

8a’b—ab x 3a

@—-x+5)+(x—-4)>

7

—2)
(/3 )+ﬁ

£ A B>

x+6)(x—5 —(x+4)(x—4)

g A B>




BRI AGEE - B

243

g # B KSR

BYAGEE - B

244

X

-3

g # B-KSR

2, L
"> 72

2-(=7)

S5x-2y)+(x+7y—4)

9 .3
5

]()T( )

24ab? - 3ab x 7b

(x+2y—-7)-23x-5y—1)

j_—§+<3+ﬁ>(2—ﬁ>

(244? +4ab) + 4a

@+5)° - (@x-3)x-2

9
J§<£+J§>—ﬁ

£ A B>

@X+)x—-3)+ @x+3)(x+4)

g A B>




BRI AGETE - BIE 245

g # B KSR

BRI AGETE - BIE 246

(—42)+(=7)

g # B-KSR

2 _5
8 6

—H+(=3)

2(-a+3b—-5)—(3a+7b—-4)

0.3 x (-0.5)

18ab — 12ab? + 3b

3C2x-3y+5)-2@—-4y-7)

= (F -1y

S

36ab? - 3b + 4ab

@X—=33Nx=-5+@x+2)(x-2)

(V18 +2)(J18 +3) -

12
J18

< £ A B>

@+2)(x—-5)—(x—-6)?

g A B>




—4 =St= 32z —4 o 32z
BIAGEE - B8 247 BIAGGE - 18 248
F #H EF-KZ g #H BB K&
30+ (-5) 1T 6x(8)
1.5 1 4
4t 2 1575
42x—-3y)—-3(x—-2y-95) 3 Sa-b+3)-3(a-2b)
27a°b + 15a° x 5ab 4  (—6x°+9x)+9x
o2 15 ., 2
(V12 +3)(J12 2)+ﬁ 5 ﬁ+<3 J5)
@+ (x+5)—(x—4)>? 6 (x+57%-(x+4d)x—-4)

< ¥ A B> < & A B>




-4 3\ == 3z -4 3\ == 3=z
BRI AMEE - B8 249 BRI AEE - 18 250
F #H EF-KZ £ #H EF-KB&
-8+3 1T (-3)x6
4(@+2b—1)+3(a—2b) 2 3x+3y)-2(x-5y)
(2e-4)x Lz 3 (30a% +12ab) - 6a
2 18 A2
(V6 +1) 5 4 Jﬁ+ﬁ 3.3
@X+3Nx—-3)—(x—-5(x+3) 5 x+2)x—-7)—(x-5)°

< & A H> <  F A H>



-4 == 3z -4 == 3z
BIAGETE - B8 251 BIAGEE - B8 252
g #H B K& g #H B KB
7+ (~10) 1 (=24)+6
(24ab? + 6ab) = 3ab 2 9ab?® x4ab + 64°
oo, 21 20
(V7 -2) v 3 (V5 +2(/5 +3) 7
@-2)x+3) - (x+3)(x-3 4 x+3)°-@x+4(x-1
Lsern-La-5 5 Lazi2)+La-3

< & A H> <  F A H>



BRI AGEE - B

253

g # B KSR

BYAGEE - B

254

8- (-6)

g # B-KSR

420%b + 7a x 3b

(-6)x (=8

Vi

2 -2y
(V2 )+J§

(244%b — 12ab) + 3ab

@+9)(x—-5 —(x+3)(x—4

&

(V& +/2)(J5 -2+ 7

%(435—3)— %(x+2j

(x+4)(x-3)— (x-1)

g H B>

%(2x—1)—§(x+33

g H B>




BRI AGEE - B

255

g # B KSR

BYAGEE - B

256

(24 + (4

g # B-KSR

480°b + 6ab x 3a

5+(-9)

T
(V7 -2)(J7 +3)- 3

@7xy* — 9xy) + 3

@+7)2 - (x+3)(x—4

15
%Hﬁ—zf

§(3x—1)—%(4x—1;

@+5@-5-@+2)a-5

g H B>

Lz-n-Lex-3

g H B>




- A == 3= 4 A == 3z

BRI AGETE - B8, 257 B AGETHE - B 258
g #H B KB g #H B KB

4x(=7) 1T —9+2

36ab? +6ab x4a 2 4225y =Ty x4y

(ﬁ+ﬁ)(ﬁ—25)+? 3 (ﬁ+2)2—J/65?

@+ @-3) - (x-7) 4 @+3)a-3)+@-2)a—4

Lisz+3-L3z-2 5 L(7x+5)-L6x-3

< & A H> <  F A H>



—- 3 == = —- 3 == =
BIAGGTHE - & 259 BIAGGTHE - & 260
=3 bz EF-K& T bz E-K&
24+(-4) 1 4+(-9)
(32ab? — 8ab) + 4ab 2 272%y = 9xy x 4x
15
% +(Z +4(/Z -1 3 (B2
(x—4)° - (x+6)(x—6 4 (@+7N@a-7-(@+5@-5
L7e+3)-Lise-1, 5 Zetl 3utd

< & A H> <  F A H>



